Module 2: Linear Programs (Canonical Forms)
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e Az =b and A’z = b’ have the same set of solutions.
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Proposition
Let B be a basis of A,
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Az =b

where y = ABTCB. Then

(1) (P’) is in canonical form for basis B, i.e., ¢g =0 and Ay = I.
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(2) (P) and (P') have the same feasible region.

(3) Feasible solutions have the same objective value for (P) and (P").




